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a=: AEZAF EM  ZAHE
PSR NSEEZE(ZELXNSNL/NSLE Al
ool HECANSE XY
2 RA - ZH-BR(EN) - HREAY - BYS il
O ANHERAJF ALY 30,000
AEHOIEEHSAA 120,000
308 XXM SOl A 120,000
01 IXNHHBNEES 120,000
OS QI =MAE O & a8 ALK& 120,000
NES(FU=H) ,892,000
403 MHXISHE X201 H ,892,000
01 X SHHXN2E= ,892,000
OXESANRSESTAIHE S Z (H2-5)F I 25,000
OZSAESSAIHESZ (L2-43) 04 350,000
OXZSANESSAIHEZZ (L3-5)H4 175,000
OESAINSHZAIHE S Z2 (21-7)HE 200,000
OXESANRESSAIHEZZ (H1-1)3 I 50,000
OZSANEEZSCAIHEZZ2(F1-25)F I 35,000
OXSANEESSAHESZ(S1-34)FHI 180,000
OZSANEESSAHEZZ(M3-16) & HI 100,000
OXSANEESSAHESZ(E3-20)FHI 10,000
OXSANSESTAHEZZ (F2-6)FHl 140,000
OXSANSESSAIHESZ(M2-15)F I 65,000
OZSAUNESSAIHESZ (Z2-6)F 4l 120,000
OZSAMUHSSAIHNESZ(F2-25)FHI 70,000
OZSANMSUHSSAIHESZ (H3-6)F I 80,000
OZFANEHAS A HEZ2(L3-36)F I 300,000
OZFAGHASEAIHE S Z(21-7,2-15,2-33)

&l 17,000
OZFANGHUSEAHEEZ (F2-1)FHI 40,000
OBFANEESTAHECSZ (F1-7)3 4l 150,000
O3FANESL-S2ATAHE T2 (21-46) M & 300,000
OF0IAIBI A S SAIH & =2 (£3-3,4) 04 150,000
OF0ANEEHSCAIHE =2 (A3-13~15) 0 & 300,000
OF0AFBSCAHEC2(A1-128,2-4855 )

DR 400,000
OZMANSSSTAHEZZ (L2-22)F I 150,000
OZMAISECAANEEZ2(S2-81)EHI 25,000
D232 NSTAHEZ2(L2-143) 14 335,000
O28x s ANAHE =2 (A3-9)F 125,000

=& atel 1,000 1,000 0
201 LBH2E | 1,000 1,000 0
02 =224l 1,000 1,000 0

O33s22AHA 1,000
Ost=22& 83l sl 1,000




A ABCAZ A ZAAED
HFH: TASEZH(2ELNYMNL/NGSL A
gel: EXNdSsEXH 2L (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
EXossdze 7,800,100 5,332,900 2,467,200
2 3,861,000
s 3,449,000
< 490,100
EXN+=ERE32H 44,000 44,000 0
201 Let249] 44,000 44,000 0
01 At 22l 38,000 38,000 0
Oggt=2tl 28,000
OEXN+=gS82EMUAETNERAUS 28,000
O2dsg 10,000
OEXN=22s =220 10,000
02 2324gHl 6,000 6,000 0
O332aYAA 6,000
OCEXN+=EBMINLSE 6,000
N A St a3 AL R & 60,000 50,000 10,000
401 Al HIZ 201 8] 60,000 50,000 10,000
01 A& HI 60,000 50,000 10,000
ONEHeASESMILSES 60,000
HEHE A2 (2E) 6,000 4,000 2,000
s 6,000
201 Let24d] 6,000 4,000 2,000
s 6,000
01 At 22/l 6,000 4,000 2,000
Ogpt=2Hl 6,000
OMgHe A2 HERAS(ZSEY) 6,000
s 6,000
HE s 22l (XE) 51,000 43,800 7,200
s 51,000
308 XX SIS0l & 51,000 43,800 7,200
ras 51,000
01 AXHHILEES 51,000 43,800 7,200
OMgHesd2ed(ZEEL) 51,000
s 51,000
HE B2 =CR& A 3,392,000 1,076,000 2,316,000
s 3,392,000
403 A X EHHSH20IA 3,392,000 1,076,000 2,316,000
s 3,392,000
01 X EHHMA=ZLE L 3,392,000 1,076,000 2,316,000
OMNg S 2SFAXNAAL (DESY) 3,392,000
as 3,392,000
FEOZ2HPAFTHIAS K ALY 4,247,100 4,115,100 132,000
= 3,861,000




A= HATZ A= S SAIHED
HM: CASBXIL(ZELXNHENE /RNAUEZAl)
oo EXoasH L EERED
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ol At o %Eﬁ HR=2
== 386, 100
403 XX SHHS K20 & 4,247,100 4,115,100 132,000
= 3,861,000
= 386, 100
01 XIS A=Z2E X 4,247,100 4,115,100 132,000
OFs0230R2EFHINYGS S AL 4,247,100
= 3,861,000
o= 386, 100
EOUHMAUTNZL (2 EL R HIML/ALSCSI]) 14,739,720 9,419,522 5,320,198
= 7,500,000
& 7,239,720
MAHXHAE XA 14,739,720 9,419,522 5,320,198
= 7,500,000
o= 7,239,720
MASHTZH2LHE X R (HEAIY) 5,350,000 4,993,000 357,000
403 XX SHHS K20 & 5,350,000 4,993,000 357,000
01 MXHHAEBE = 5,350,000 4,993,000 357,000
Odggerz2geEsscH14 5,350,000
AT 22 AIE S HH| 295,000 421,500 A 126,500
403 XX S M S X201 A 295,000 421,500 A 126,500
01 AXESHHIE2E X 295,000 421,500 A 126,500
OAMHASHT S22 Z2AIE 2 HH| 295,000
MATTHE FRAH| 104,320 154,800 A 50,480
201 et d| 100,000 150,000 A 50,000
01 AP 22| H| 100,000 150,000 A 50,000
Oet=sH| 100,000
O AT NLLMELD 100,000
203 ¥ R =& H| 4,320 4,800 AN 480
03 Al 2 =& 2 = X H| 4,320 4,800 A 480
O NELALREH 4,320
NEMAHXHE NIRRT E2H 31,000 31,000 0
201 gBt24d| 31,000 31,000 0
01 AP 22| H| 31,000 31,000 0
OBt sH| 16,000
ORI ALY AMAUZAAXNE RS 16,000
o294+ 15,000
O&FAE2 0| 15,000
SEXNASS A XA (MEAY) 1,034,000 1,478,000 AN 444,000
403 XX S M S K201 & 1,034,000 1,478,000 A 444 000
01 AXESHHIE2E X 1,034,000 1,478,000 A 444,000




M ox
40 5 4

S 2N BB (BH) - SN - B2 ﬁlf& HDS2

Os29 N8B 1,034,000

SSHASSAIESEHH| 330,000 400,000 A70,000

403 XX SHMS K201 N 330,000 400,000 A70,000

01 MXHHAE2BE = 330,000 400,000 A70,000
OssH%HA-=s3AE23HI 330,000

SSHRINGANSEH3 IS SFL3 35,000 51,200 AN 16,200

307 212t0| & 35,000 51,200 A 16,200

02 DI2ZHH AALH E X 35,000 51,200 A 16,200
Os2S94XJ|IgANSEHEA LS 35,000

g AEEUR2A 60,400 34,000 26,400

308 XX S M SO0l & 60,400 34,000 26,400

12 JIEIR E = 60,400 34,000 26,400
O824 32U2d 60,400

SSHMEH XA 6,000,000 1,850,000 4,150,000
= 6,000,000

403 XX S M S K201 A 6,000,000 1,850,000 4,150,000
= 6,000,000

01 XHAMAHEBE = 6,000,000 1,850,000 4,150,000
OLE=3¢4THEH X & 6,000,000
= 6,000,000

FOI2EEAHE MBS 2 G ALY 500,000 0 500,000
= 500,000

403 XX S M S K201 A 500,000 0 500,000
= 500,000

01 AIXISHM A 22X 500,000 0 500,000
OFR02e= HEAMASH M UFAIS 500,000
= 500,000

FOEEHE MU TS USIALS 500,000 0 500,000
= 500,000

403 XtXISHH S K201 500,000 0 500,000
= 500,000

01 HXHNMAHESEE = 500,000 0 500,000
OF0IBEFEHE M HAMAAG ALY 500,000
= 500,000

S HE A A MSA2AG ALY 500,000 0 500,000
= 500,000

403 XXM S K201 A 500,000 0 500,000
= 500,000

01 HXHNMAHEBE = 500,000 0 500,000
OB HEMGE M LG ALY 500,000
= 500,000
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N = 0l & At & M A

AZ: AHC AR SN A D
HH: NERENLFTA(2ELXNGMNY/XNEL A
Sl RGNS UX A ET CERED
AR .24 BB OEH) - NEAY - BAS 0 Ak o8 ﬁlf& HDS2
& Al XH A4 164,804,300 120,408, 160 44,396, 140
= 9,040,000
hag 121,732,000
= 34,032,300
NERENLZ=R(ZELRN AL /RELEAl) 67,998,440 42,906,900 25,091,540
rag 52,470,000
& 15,528,440
NS LR&AS A 50,044,440 34,234,900 15,809, 540
rag 36,273,000
= 13,771,440
X <IRe X & 27,230,000 22,005,000 5,225,000
rag 27,230,000
403 XXM S K201 A 27,230,000 22,005,000 5,225,000
rag 27,230,000
01 XIS A2E X 27,230,000 22,005,000 5,225,000
OXNEIHL XA (BEAD) 27,230,000
= 27,230,000
NE+-AdEIA 8,983,000 6,141,000 2,842,000
hag 8,983,000
403 XX S S K201 A 8,983,000 6,141,000 2,842,000
rag 8,983,000
1 AXSHANAEE X 8,983,000 6,141,000 2,842,000
OXNEE=QUAESIALE(ZEAZ) 8,983,000
Fag 8,983,000
ENLEXF2XS 60,000 348,000 A 288,000
rag 60,000
403 XX S M S X201 A 60,000 348,000 A 288,000
hag 60,000
01 MXHHAE2EE = 60,000 348,000 A 288,000
OfENEEXRXAS(ZEAZ) 60,000
hag 60,000
HE XD BHAIE X (MEAIY) 13,625,000 5,302,000 8,323,000
403 XX S M S K201 A 13,625,000 5,302,000 8,323,000
01 AIXISHM A28 X 13,625,000 5,302,000 8,323,000
COHEXYGI|BLAIE K& 13,625,000
NEGHEANDAT R E AT 100,000 109,500 A 9,500
308 AHXI S M SO0l & 100,000 100,000 0
1 AXHNEANEXZ 100,000 100,000 0
20213 A S 0I=0|0kD| BHek 3| 100,000
NEIME A A A 19,560 29,400 A 9,840
201 et A H| 15,240 16,000 AT60
01 At 22l bl 15,240 16,000 AT760




A ALE A= M 0 S AITHA
H: JNAZENLFI (2 ELXNGMNLE/NLLEA)
Sl KIHE LKA =T CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
Oget=&H| 7,240
OXANLAMIANAVNEES LSS 7,240
O2d=¢ 8,000
OXANLEHS A HHLLUOHIS 6,000
OS2AMETUEAZAEN=LLHH S 2,000
203 YR =& 4,320 13,400 A 9,080
03 AIMZ=XH S =AY 4,320 13,400 A 9,080
OXSHEMEFA 4,320
HoZ , M10SEH =S U=+ 26,880 0 26,880
403 XIS E X201 & 26,880 0 26,880
01 X SHHAN2E = 26,880 0 26,880
OH9S M10S EH S Mol = = At 26,880
Ao =sdaAF= 17,954,000 8,672,000 9,282,000
s 16,197,000
< 1,757,000
FHAXSME(ZAl 3,539,000 2,556,000 983,000
s 3,132,000
< 407,000
403 A X EHHS =0l A 3,539,000 2,556,000 983,000
s 3,132,000
< 407,000
01 X SHHMA=2LE L 3,539,000 2,556,000 983,000
OSAMMENISAE(ZSAZ) 3,539,000
s 3,132,000
< 407,000
HAXNAME(sHE) 14,415,000 6,116,000 8,299,000
s 13,065,000
=) 1,350,000
403 X SHHSA=0l& 14,415,000 6,116,000 8,299,000
s 13,065,000
=) 1,350,000
01 X SHMA=2E X 14,415,000 6,116,000 8,299,000
OsHEMS0SASE (FSAIZ) 14,415,000
s 13,065,000
< 1,350,000
NEHIESZM(ZEL X AN /XNSLEZ Al 75,252,000 67,596,000 7,656,000
s 64,762,000
= 10,490,000
SANZHE LS 75,252,000 67,596,000 7,656,000
ras 64,762,000
= 10,490,000
SAOHE - THA ALY 375,000 571,000 A 196,000
201 Let2dE] 175,000 229,000 254,000
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A= HEZ A= M EXEB Y
HE: FOHOAFANNBY IS (TELNANL/NALEA)
SRR EL B CERED
AR 2N EH O () - MBEAY - BAS 0 AF o il HZS2
303 A2 6,990 8,590 A 1,600
01 ZAaZ 6,990 8,590 A 1,600
OEXNHELALRFRNRIIIZAl & 5,000
OEXNHERSSUHEFENS 390
OXNELAESHPZ UMY E L2 TFAlA 1,600
NESEES 156,502 65,501 91,001
= 156,502
308 AXISHMSO0IA 156,502 58,951 97,551
= 156,502
01 AIXIHMBAEEXZ 156,502 58,951 97,551
OX A 22 156,502
= 156,502
INESHUEYN N R 4,500 7,000 A 2,500
201 2et2 Y| 4,500 7,000 £2,500
01 AFR2t2l bl 4,500 7,000 A 2,500
O get==H| 2,500
OXNEHEAZEEZEHH 2,500
Oeg=¢ 2,000
OBNMNEZTXNEHEAMRAKLI 2 2,000
NEWEIIR-TCES 4,223,837 3,282,257 941,580
= 4,223,837
308 AXISHAMSOIA 4,223,837 3,282,257 941,580
= 4,223,837
01 HXHHNBIMNEXTZ 4,223,837 3,282,257 941,580
OO X = THZE AFAFS 4,223,837
= 4,223,837
HOUZ2AEBHAHRS 5,399,884 2,024,860 3,375,024
= 4,537,000
& 862,884
SUHEBAIAHRA 208,628 214,452 N5,824
201 et A | 208,628 194,452 14,176
02 53294l 208,628 194,452 14,176
A& &H|l = A4l 208,628
OSUAEBANALEESES R AESH| 208,628
CREFASPUMESER 42,320 84,800 A 42,480
201 et A | 18,000 20,000 A 2,000
01 AFR2 2t 2l dl 18,000 20,000 A 2,000
Odget=gH| 18,000
O FAEE=ZHHS 18,000
203 & R =& 4,320 4,800 A 480




A ALE A= M EXNEE D
Ha: FOUBIENHHHIH(ZELXNANL/NALEA)
Sl HHZAISUNRE CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
03 A F=XH R =ZH| 4,320 4,800 A 480
OE2EFAHRFA 4,320
308 XtXIEHH SOl A 20,000 60,000 A 40,000
01 AXHHBILEES 20,000 60,000 240,000
O=2JtNEBSEHAEX XA 20,000
CEREFASEUEH2Y 91,936 89,608 2,328
201 et 5,060 5,060 0
01 At 22l 5,060 5,060 0
Oggt=2tl 3,800
OEZ2EFAAJYI2IEAIEFYS 1,800
O REFAYRFIAZEAYUS 2,000
Oo2g+¢ 1,260
OL2HFARAZ2E+EH 1,260
403 Mt HHSA=0l& 86,876 84,548 2,328
02 I 2S0CHEt A =8 2 & AL 86,876 84,548 2,328
O=FAFBALE2 S 17,724
OE2EFAI S HSALS 69, 152
E2YEFAAY 120,000 380,000 260,000
403 A X EHHS =0l A 120,000 380,000 A260,000
01 X SHHA2E= 120,000 380,000 260,000
292 A 90,000
C2HEHOIATHE XL 30,000
S ZLRIGHAI A S H S} 4,537,000 1,016,000 3,521,000
= 4,537,000
403 MtXISHE X201 & 4,537,000 1,016,000 3,521,000
= 4,537,000
01 X SHHA2E = 4,537,000 1,016,000 3,521,000
OEZAXoAIE S HASIALS 4,537,000
= 4,537,000
S 2YXGAI S S HASHE AALY 400,000 240,000 160,000
403 A X EHHS =0l A 400,000 240,000 160,000
01 X EHHMA=LE L 400,000 240,000 160,000
OEZ XA S A LS AALS 400,000
HE2AZH(EXNZE D) (IIEH/IIE) 71,909 86,745 A 14,836
Jl= &l 71,909 86,745 A 14,836
Jl=dl 71,909 86,745 A 14,836
201 Let24d] 26,520 26,520 0
01 At 22l 26,520 26,520 0
Ogst=2tl 5,100
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> A
A & 0l & AF 2 E A A
20218 = =0l &b L BHeI A A
A= AEZ A= fAM otE
M ot LT (ZELXNINL/TH)
B EEELEE TR CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
ot & ot 169,703, 164 217,635,528 A47,932,364
= 42,481,000
< 115,722,164
T 11,500,000
GHEYLAN AR (ZELX ML /2K H) 115,534,750 167,022,800 £51,488,050
= 7,842,000
< 107,692,750
HEZHGAFEH =& 107,692,750 154,847,800 A 47,155,050
SHETHOH Ol B AL (R E ) (HEALY) 81,355,000 97,187,000 A 15,832,000
401 AIEHI L 20 81,355,000 97,187,000 A 15,832,000
01 A& HI 74,967,000 87,967,000 A 13,000,000
Gt THOH Ol A (=21 &) 74,967,000
02 Zeldl 6,160,000 8,986,000 A 2,826,000
CIoHA THOH Ol 2 AFSE (=21 E ) 6,160,000
03 Al S THHI 228,000 234,000 A 6,000
[JGH& TH off i 2 AF S 228,000
GHE THOH Ol 2 AR (K& ) (B EHAY) 23,561,000 49,004,000 A 25,443,000
403 Mt S E X201 H 23,561,000 49,004,000 A 25,443,000
01 X HHMA=ZLE L 23,561,000 49,004,000 A 25,443,000
ot THOH Ol ArE (=21 &) 23,561,000
SHEH =R 2,776,750 8,656,800 5,880,050
201 ¢er24l 63,430 65,000 A 1,570
01 At 22l 63,430 60,000 3,430
Oget==2H| 33,430
Ot HE PR AN FTFRALAZLSIAYS 33,430
O2d=¢ 30,000
OSHIYALAZLAJ]LTL S 30,000
203 ¥ S =&l 4,320 4,800 A 480
03 AIF=XH 2 =AH| 4,320 4,800 A 480
Ost&HEgREA 4,320
401 Al HI L 2 THHI 2,709,000 8,587,000 15,878,000
01 Al&Hl 2,700,000 8,578,000 15,878,000
OctaEII2H& =8 2,700,000
03 Al S THHI 9,000 9,000 0
Ootall=Ha = 9,000
(=Rl 7,842,000 11,775,000 A 3,933,000
= 7,842,000
SstdA 4 7,842,000 11,775,000 23,933,000
= 7,842,000
403 MHXSHHSA=0l& 7,842,000 11,775,000 A3,933,000




A ALE A= fAM otE
o GELANBE B (IELNSNL /S TE)
Sl @AM (29l & 2)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
= 7,842,000
01 AXISHHA=2E = 7,842,000 11,775,000 A 3,933,000
OesteAs 7,842,000
= 7,842,000
SIEMESZUEZE (ZELXNIAMNL/=XE) 120,000 120,000 0
StEANESEER 120,000 120,000 0
StEAIE SEEZ 23t 120,000 120,000 0
201 Let2dE] 70,000 70,000 0
01 At 22l 70,000 70,000 0
pt=2Hl 70,000
OctEMTEE 40,000
O&+=32%s:= 30,000
308 XtXIEHH SOl A 50,000 50,000 0
01 X HHILEES 50,000 50,000 0
OZANHEHZE 50,000
GHERNELE(ZELXNAML /2K H) 50, 161,884 47,809,883 2,352,001
= 34,639,000
< 4,022,884
T 11,500,000
St ZHIF& 50,161,884 47,809,883 2,352,001
= 34,639,000
< 4,022,884
T 11,500,000
StE EHIAE =& 2,933,500 2,851,700 81,800
201 Let24d] 33,500 33,500 0
01 At 22l 33,500 33,500 0
Ogst=2tl 33,500
Ot HHIANL 2B NRRALAZEILS 33,500
401 AIEHI L 2 CHYI 500,000 500,000 0
01 A& HI 500,000 500,000 0
OXgstE2 =&l 500,000
403 RIXISH S X0l & 2,400,000 2,318,200 81,800
01 HXSHMA=LE L 2,400,000 2,318,200 81,800
OJI8 Mg EHl AL 300,000
[JLEIGHE I E = AL 1,500,000
OXgotd+==2H AL EH ALY 300,000
FEAESHHAE 300,000
INMSHE SN2 =AY 34,639,000 7,227,000 27,412,000
= 34,639,000
403 MHXISHE X201 H 34,639,000 7,227,000 27,412,000
= 34,639,000




AT A= 2A : olE
SIHEKXNBELEFE(ZELX AL /LX)
ot MU= (&2 &)
S 2N BB (BH) - SN - B2 0 Ak o8 ﬁlf& HDS2
01 HXSHNMAHEE = 34,639,000 7,227,000 27,412,000
201 S XN E A (FCEN) 34,639,000
= 34,639,000
MISSEHZDIE N E B (ZEDNER) (H =) 10,000,000 30,209,632 N 20,209,632
TH 10,000,000
401 Al HI L £ 0HHI 10,000,000 30,209,632 N 20,209,632
TH 10,000,000
01 A& HI 10,000,000 29,801,632 N 19,801,632
CDEHSO0IE X ot& Mol = 2 HI 10,000,000
H 10,000,000
St S22 (Fo=4) 1,042,500 495,000 547,500
403 XX SHH S K201 1,042,500 495,000 547,500
01 HXHXMAHEE = 1,042,500 495,000 547,500
OFFAISEH -3 A & A I 15,000
OLsHSNAE MY EZH 15,000
OotAdsSSEF22l At A A H| 15,000
=AM SAOS22I T & Ml 2 - H| 2 A 15,000
OFFAILIYEHEIE22| 0l =& F Y| 20,000
OLFAIHEHZ el 2 E HHI S A 350,000
OLFAIZESHH L EH S A 35,000
OF0IAI2E A Hl S A 200,000
O F0IAI 01 & & Hl S At 200,000
COF0IAI S AHCH & M & I & 3 A 100,000
OEdZ2E112|otd H X E 2 Al 10,000
O3 XAt H eSS X E S Al 12,500
O8I0t HAA I (S20])s = F S A 25,000
OZf/AzsgH D222 M A 30,000
MO9S  10SHHEIHER(ZEDNER) 1,546,884 0 1,546,884
= 46,884
TH 1,500,000
403 XX S S X201 A 1,546,884 0 1,546,884
& 46,884
TH 1,500,000
01 HXHNMAHESEE =X 1,546,884 0 1,546,884
OFEAETHAE ALY 1,546,884
& 46,884
TH 1,500,000
HE2HAY (Gt D) (DIEH/DIE}) 91,530 70,845 20,685
=&t 91,530 70,845 20,685
Jl23Hl 91,530 70,845 20,685
201 Yet2 | 28,080 26,520 1,560




M ox
40 5 4

AR SA Y- SAEA) - HRAY - BES il Bl RE2

01 At 22l 28,080 1,560
Oget==&H| 10,800
OANRESLES T 10,800
O=&l 17,280
OgeFds=atl 17,280

202 04l 59,850 19,125

= LH 04 H 59,850 19,125
DR800 59,850

eSS 3,600 0

B EEEES T 3,600 0
(120201 6 3,600

S(OHEM)(ZEL NI NL/=THRA) ,795,000 1,183,000

NS , 795,000 1,183,000

LI SU ==& e , 795,000 1,183,000

705 ==& cl 34 , 795,000 1,183,000

03 Al - SXNGHNLI S0 AI &S ,200,000 0
Ol &S XNE AL (06E) 400,000
Ool A4S XA AL (074) 800,000

04 Al - SN SIHLI S0 =30 A&k ,595,000 1,183,000
O=ol &S XNE AL (06E) 14,000
Ool A4S XM AL (074) 56,000
COotEE Ul AL (174) 500,000
Clot&E Z Ul AR (184) 400,000
COotE EHI AL (194) 400,000
OX ot & ZHIAY (20) 700,000
OEHS0IE X ot & Mol = 7 (204) 525,000
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AR AETAR SN AEAEED
Hil: HZNUGCHUGZAFA(ZELNGMNL/NSLET Al
R TEAMEAAE CEE-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
SEAUZ AL 100,000 145,000 A 45,000
308 AHAIEHHSOIA 100,000 145,000 A 45,000
01 HXNHHBHELS 100,000 145,000 A 45,000
ONEHX A MM T H 60,000
OAESI LS Hot=a =& I & 40,000
NMZ2HEABUCANZE (FEXRNIML /XL Al 20,167,650 29,260,800 29,093,150
= 18,075
< 9,849,575
T 10,300,000
HENZANZH 20,167,650 29,260,800 29,093, 150
= 18,075
< 9,849,575
T 10,300,000
A S AR X 9,210,000 3,010,800 6,199,200
401 AIEHI L 2 CHYI 9,210,000 3,010,800 6,199,200
01 A& HI 9,200,000 3,000,000 6,200,000
OAMSAI~GtE (B ATHRNNHZ EZ A 4,000,000
OMEAREURN S ER27S 8 HE ALY 5,200,000
03 A& =2 THHI 10,000 10,800 A 800
OAMSAI~GHE (B ATHR)HZE EZ A 10,000
ZETHUGZANILEZ2HEXR 10,491,500 22,516,000 A 12,024,500
< 191,500
T 10,300,000
401 AIEHIZL 20 10,491,500 22,516,000 A 12,024,500
< 191,500
T 10,300,000
01 A& Hl 10,481,500 21,859,500 A 11,378,000
=285 W~ EAHBEZ2H A 10,381,500
< 81,500
T 10,300,000
O3 &8SEH~ATANHAZCE2HESMASAZE
ZIETANEY 100,000
03 Al S THHI 10,000 50,000 A 40,000
JIE28BS UM EANAZBEZ2HE 10,000
OS24 AIEE xS 430,000 590,000 A 160,000
201 et 10,000 10,000 0
01 At 22l 10,000 10,000 0
Opt=2Hl 10,000
O =St E#EH 10,000
206 = Hl 20,000 30,000 A 10,000
01 MHZ 8l 20,000 30,000 A 10,000
Oddss=lzesizre 20,000




A= AT A= PN ASAIEE
M ME24ZHEUEANZE(FELTNIANL /AL AI)
ool GBUEAXE (&)
4324 BH . GH(3AH) - KR - BLS of 4 o4 il HI RS2
307 glztol & 300,000 300,000 0
05 22t & =2 300,000 300,000 0
OdEe=ssi22E8Y 300,000
401 AIEHIZ S CHYI 100,000 250,000 A 150,000
01 Al&HI 100,000 250,000 150,000
O33N EHA 100,000
ZUREE 36,150 0 36,150
= 18,075
S 18,075
401 AlEHIZ R0 8] 36,150 0 36,150
= 18,075
£ 18,075
01 A€ dl 36,150 0 36,150
o2uexg 36,150
2 18,075
= 18,075
HY2HZH (M AIZE D) (JI1EHDIIE) 77,886 89,525 211,639
23l 77,886 89,525 A 11,639
Jl=23dHl 77,886 89,525 211,639
201 2Bt2 37,286 29,400 7,886
01 At 22l bl 37,286 29,400 7,886
Oget=24 19,000
Oge=dRol 10,000
ONRESHL=S 7l 9,000
Os&l 16,800
OUEZAZELREFTSAHI 16,800
Ogxs 1,486
OHIMNFEH SIS HARZ A 1,486
202 04 4 37,000 56,525 219,525
01 =LHOIHI 37,000 56,525 19,525
Oge=a0bl 37,000
203 YR =AY 3,600 3,600 0
04 FAN2EERFAH| 3,600 3,600 0
20 ol 5t 3,600




= o
A & 0l & AF 2 E A A
20218 = =0l &b L BHeI A A
AR AETAR SN SRALAY
H: NYCHELRN2d(RELER/EER)
Chel: S2nsYEE (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
SREALAME L 31,018,548 33,863,379 A 2,844,831
s 1,120,000
N 1,500,000
= 22,098,548
T 6,300,000
ANeesELRN2(RELESR/EZ) 24,321,049 27,678,969 A 3,357,920
s 1,120,000
e 1,500,000
< 17,001,049
T 4,700,000
CRNsSYES 3,504,320 4,101,833 A 597,513
Atel &2 E 3,504,320 4,101,833 A 597,513
203 YR =& 4,320 4,800 A 480
03 Al =AY R =& 4,320 4,800 A 480
OXNEESZTZIAFA 4,320
401 Al HI R 201 I 3,500,000 4,097,033 A 597,033
01 A& HI 3,489,000 4,086,000 A 597,000
OAtel S =t ZEH ALY 3,489,000
03 Al S HHI 11,000 11,033 A33
OAtel S = ALY 11,000
AAsSxus2el e 2,240,000 4,244,000 A 2,004,000
s 1,120,000
< 1,120,000
A2 A ZNH 1,400,000 3,404,000 A 2,004,000
s 700,000
< 700,000
401 AIEHI L 201 1,400,000 3,404,000 A 2,004,000
s 700,000
= 700,000
01 A& Bl 1,390,000 3,392,000 22,002,000
OREE2RZNE(ZSEEY) 1,390,000
as 695,000
< 695,000
03 A& S THHI 10,000 12,000 A 2,000
OREEERZNE(ZSEEY) 10,000
s 5,000
< 5,000
S MW Z A 840,000 840,000 0
s 420,000
< 420,000
401 AIEHI L 2] 840,000 840,000 0
s 420,000
< 420,000
01 A& HI 835,000 834,708 292




A ABCAZ SN B
HE: NYCHEURND (RELSF/ER)
ch < Siunsed )
2 2A B E(AN) - MEAY - BYS Ol &k o8 il HlnE2
O3dUMEAMNY(ASESY) 835,000
s 417,500
< 417,500
03 A& 2 THHI 5,000 5,292 A 292
OsdUMZAL(BESTY) 5,000
s 2,500
< 2,500
B A2 13,752,729 14,355,691 A 602,962
N 1,500,000
< 7,552,729
T 4,700,000
HIrEes 66,600 67,900 A 1,300
201 2Bt | 1,600 2,400 800
01 At 22l 1,600 2,400 A 800
o=l 1,600
ONEHER 2T S| 1,600
202 odl 15,000 16,000 21,000
01 = LH YI 15,000 16,000 21,000
O HEH RN 15,000
401 Al HI & 28I 50,000 49,500 500
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AR .24 BB OEH) - NEAY - BAS 0 Ak o8 ﬁlf& HDS2
01 Al&H| 150,000 150,000 0
=2 YW EX A 150,000
7.23~7.25s 1|l EF 359, 180 0 359, 180
401 Al HI L £ 0HHI 359, 180 0 359, 180
01 A& HI 356,613 0 356,613
[17.23~7.25S LIl MHoH = P2 AFS 356,613
03 A& 20 Y| 2,567 0 2,567
[17.23~7.25s Lol Mol S P AL 2,567
7.28~8. 1110l =+ 62,805 0 62,805
401 Al HI YL 2 0HHI 62,805 0 62,805
01 Al&H| 62,805 0 62,805
[17.28~8. 110l ol & P AFSH 62,805
HoS ,10SEf S Ll =+ 171,189 0 171,189
401 Al HI L £ 0HHI 171,189 0 171,189
01 A& HI 169,966 0 169, 966
OHOS M1I0SEH S Ll = 2 A 169,966
03 A& 20HHI 1,223 0 1,223
MO9S M10SEH S Lol KHoll 2 2 At 1,223
AASAtnsS2e A A 480,000 480,000 0
fag 240,000
[ 240,000
WEADXTSRMA 200,000 200,000 0
= 100,000
== 100,000
401 Al HI YL 2 0HHI 200,000 200,000 0
= 100,000
= 100,000
01 A& HI 200,000 200,000 0
OWSMIXSRNE(ZESY) 200,000
rag 100,000
= 100,000
EIRSIMPNI=RSPN 280,000 280,000 0
rag 140,000
== 140,000
401 AIEHIL 20| 280,000 280,000 0
rag 140,000
& 140,000
01 A& Hl 280,000 280,000 0
OSIMUIAZAMA(ZESTY) 280,000
= 140,000
& 140,000
W - BEaLotN 22| 4,410,920 6,971,418 N 2,560,498
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AR ALSAIZ SN gRA
HM: Y-S UIRANAC(DSLER/IEZ)
S FASI 22 (e &)
AR 2N EH O () - MBEAY - BAS 0 AF o il HZS2
A& & H|I S Xl H] 3,000
OF A X S & A H 3,000
HHSHAH (Y AL AL AN)(IIEH/DIIE 5,121,240 4,913,417 207,823
ol 2 AH| 4,131,520 3,907,471 224,049
ol 2 A Y| 4,131,520 3,907,471 224,049
101 2124 d| 4,021,960 3,802,891 219,069
01 2% 3,580,488 3,368,436 212,052
OoJi=ss 2,682,524
OdsH 417,848
-42 91,980,000& 14 91,980
-52 81,467,000& 4H 325,868
Oz sH 2,038,851
-2 (45 2) 4,057,200& x12H «12& 584,237
-73 (202 2) 3,478,600& x24H «12& 1,001,837
-82 (135 2) 2,695, 100& x14H = 12& 452,777
odz2+4Y 225,825
-8Z24Y 2,038,850,400& x1/12%50%*23] 169,905
- 320N = 55,920
255 0] & 130,000& x18H x12& 28,080
20 0| A4 25E 018 110,000 x5H 128 6,600
- 159 0l A 20 012 80,0003 *x11H =12 10,560
- 10 0l A 154 O] 2F 60,000& x9H x12& 6,480
- 5E 0l AH104 0] 8¢ 50,000& *7H x12& 4,200
O+ 546,590
(@RS = 36,646
-eRsRALY 36,646
412U
81,467,000& *1/12x78%*4 . 1%*~4 % 128 10,422
- 523U R 4,057,200 x4 1%*x6H x12& 11,977
6= 3,478,600& x4 . 1%*6H x12& 10,269
72U 2,695, 100& x4 1%*3H x12& 3,978
ONAHEBEELY 84,960
-EY 48,960
Bl 2 Xt 40,0003 x50H x12& 24,000
NS (EMXE) 60,0002 x8H x12& 5,760
JbAS (A XFE ) 100,000 »23H 128 2,400
JIEME 20,000& *70H = 12& 16,800
-FE0EE Y 1,000,000 x3¥ »12& 36,000
OS2 2xY 41,520
-REZ2RESY 10,800
23 50,0003 *18H = 12& 10,800




AR AETAR SN YRALAL L
M. HMSAAH (B2 ALALE A)(IIEH/DIIE
Sel: o2y (B9 ®R)
AR .24 BB OEH) - NEAY - BAS 0 Ak o8 ﬁlf& HDS2
-ELXERLd (D=l dESLY) 30,720
583 0] &t 50,000 *3H x12& 1,800
6,72 30,000& x32H x12& 11,520
- 820l ot 20,0003 x14H x12& 3,360
PSS (JIAH IS H)
30,000& x25H x12& 9,000
FAFZ (AP DIAE) 20,0002 152 «12& 3,600
M2 (286~72) 10,0002 x3H *128 360
A2 (288~92) 20,0002 x2H x128 480
HAA2(3EH0I4) 50,0008 x1«12& 600
Oxm2RFYS 381,664
SN2 2ReY 381,664
PARSLE 12,002& *10Al 2tx53H + 12& 76,333
BN 12,002& *40A| 2tx53H x 128 305,331
ORYHBRIALH 50,0002 *3H x12& 1,800
O™ HZAH| 140,000& *53H x12& 89,040
OYE F Oty 2,038,850,400& *1/12x60%*23] 203,886
OS2 At
2,038,850,400& *1/12%86%*1/30% 12 58,448
03 2IAHALZZXHE = 441,472 434,455 7,017
O&Ez284 222,116
(OPIE=3=| 2,050,000& x5H x12& 123,000
oan=2 2,050,000& x5 x200% 20,500
O9 XY 98,800& x5 20 9,880
o=2s52Y 210,000& x5H x12& 12,600
o1l =t 150, 000& x5 x23] 1,500
Ol 32,400,000& 32,400
OANZ2H2 2225 18,530& x20A| 2+ x5 x 128 22,236
OESANEEX]AS 135,256
[OPIR==] 1,906,900 x4H 128 91,532
oan=2 1,906,900& *4H *200% 15,256
Od Xt 92,400& *4H %20 7,392
o2+ 262,000 x4H x12& 12,576
Ol 8,500
OJIs+< 7,200
OB Xt 40,000& x5« 128 2,400
OIS (HMAE) 20,000 x2H x 128 480
OIS (SMAH) 60,000& x2H x12& 1,440
OIS (AWM XS ) 100,000& 1 x12& 1,200
OJIEIE 20,000& x7H x12& 1,680
Onss2xl 60,000 *x9H x12& 6,480
OY&E F Oty 750,000& x9H x23| 13,500
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HI (R A S A A ) (JIEH/DIE

2 SN HRABAL L
>
o

AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2

Oa% 4,800
OnE 3,600

405 XHobF S HI 3,500 17,000 A 13,500

01 AR ESFH S 3,500 17,000 A 13,500
OASII(10H) 3,500

GHERNSAFA(ZELNANL/2XR) 2,919,395 2,620,970 298,425
< 119,395
TH 2,800,000

St ZHIF& 2,919,395 2,620,970 298,425
< 119,395
H 2,800,000

7.28~8. 11Uk =+ 990,640 0 990,640
S 90,640
T 900,000

401 A& HIZ 201 Y| 990,640 0 990,640
< 90,640
TH 900,000

01 A& HI 984,440 0 984,440
[07.28~8. 11SRLIH M =2 AL S 984,440
= 84,440
T 900,000

03 Al =2 THHI 6,200 0 6,200
[7.28~8. 11S LI HH =T At S 6,200

M9 ,10S EH S Ll o =+ 1,928,755 0 1,928,755
< 28,755
H 1,900,000

401 Al HI R 201 I 1,928,755 0 1,928,755
= 28,755
T 1,900,000

01 A& HI 1,921,815 0 1,921,815
OH9% , M10S EH S Il off T ot = 7 AL 1,921,815
< 21,815
T 1,900,000

03 A& =2 I 6,940 0 6,940
LH9S , M 10S EH S Il ol XH ot = 2 Ab & 6,940




